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The age of the Universe is a vector quantity

T ~
:Ennnjl dilayl
lha @ dapn dil)
dayy 0.5 (o dajy 0.5 6 Jlguul

The mass of a body having weight 980 N is 980 Kg. (g = 9.8
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The magnitudes of two vectors A and B are A = 10

units and B = 2 units. Find the largest value possible
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for the magnitude of the resultant vectorR = A + B
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A particle undergoes two consecutive displacements
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An object moves at a constant speed of 7@5.
This means that the object moves 7 meter every
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1 second.
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The magnitudes of two vectors Aand B are A =_8 units and
B = 6 units. Find the largest value possible for the

- [ —
magnitude of the resultant vector R=A+ B
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The vector A has an x component of Ay = 4.00 units and a 'y

component of Ay = 8.00 units. Find the magnitude of this

A~
vector

—

- 4y ' :ablayl
A s @

)= i

4

12

file:///Volumes/TOSHIBA/20%_;ws¥120% p3852 0% ds>l 0/ 202 %3285 QUiz%202%2011441%20-%20 s »4320%-20%201224%-20%= b33 html

0o V+1E0 i VEE) (gl Y)

0 e ¥ dxbo



slai - 1224 - clipd — Quiz 2 1447 ;HLas Yl pais daslye

5.9

dajy 0.5 go dajy 0.5 5 Jlguul

The gravitational force in Newton acting on a body of 100 Kg
will equal to 980 N
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The magnitude of the acceleration of an object is directly
proportional to its mass
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Car is moving with speed 72km/h. Calculate its speed
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Acceleration that is produced by a 15N force in
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If the average velocity of an object is zero in some time
interval; the displacement of the object for that interval must

o
be zero
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If an object falls without air resistance, its net force is
always equal to its weight
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A baseball of mass m is thrown upward with some
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initial speed. A gravitational force is exerted on the

ball at all points in_i otion
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A particle undergoes two consecutive displacements

A=G1+5)cm and B=(1071-10)cm
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the magnitude of the resultant displacement is
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Vector A is directed northward and vector B is directed
eastward. Which of the following vector addition
diagrams best representthe addition of vectors A and

B and the subsequent resultant?

file:///Volumes/TOSHIBA/20% ,s¥120% pu3i520%ds>l10/202 %3255 QUiIz%202%20144 (5,143520%-20%203023%-20%:b34820%-20%1 <. html

9

00 VIEV e VEE) (glumds Y

T oo ¥V dxbn



s - 3023 - cljd — Quiz 2 1447 Hlas ¥l aads deslys

A B C

=] <)

> B ¥B
:63200ll dylayl
D @
rdagan dila]
D @
dayy 0.5 go dajy 0.5 6 Jlgudl

If the velocity of the particle is a constant, the acceleration
~
of a particle will be zero
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The displacment between Jeddah and Mecca is a s;\zélar
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A car is traveling with a constant speed of 20 Km/h, then the

resultant force acting on it will be
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The law that states that " If two obje<:~t_s interact, the
force F;, exerted by object 1 on object 2 is equal in
magnitude and opposite in direction to the force F»q
exerted by object 2 on object 1 " is called
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The mass of a body having weight 980 N is 980 Kg. (g = 9.8
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The magnitude of the acceleration of an object is directly
proportional to its mass
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A point in the xy plane has Cartesian coordinates
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. —_———
particle
—Noaaall dilayl
dlgn
dlgn & rdaan dl|
dajy 0.5 o dajy 0.5 7 Jlguadl

Vector A lies in the third quadrant, its components will
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be negative
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A vector lying in the xy plane has components of opposite
sign. The vector must lie in the second and fourth quadrant
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Newton's First Law of Motion is also known as:

- 63300l dilai
the Law of Inertia

b
]

) rdaan dill
the Law of Inertia
d2)> 0.5 yo d2)2 0.5 10 Jlguull
Equations of motion can be used for
63200l dilal
straight line motion only
— e ——
rdaan dilal

straight line motion only @&

AST p V:SVIIA 18] ,uay ¥ clay VI

Gdlgo <

file:///Volumes/TOSHIBA/20%_;ws¥120% pu3832 0% ds>l 0/ 202 %3335 QUiIz%202%20144 5 ,4320%-20%201366%-20%:<L31920%—-20%1 ¢SS . html £ e € dxiuo



sk - 1366 - cbjud - Quiz 2 1441 HLasdl ayads deslye 00 V18R a VEE) (lumd Y

A particle undergoes three consecutive displacements
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the magnitude of the resultant displacement is
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When the weight of a moving object increases twice as
much, the force of kinetic friction increases twice as much
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The magnitude of the acceleration of an object is inversely

. . I
proportional to its mass
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A person walks first at a constant speed of
5.00 m/s along a straight line from point
A to point B and then back along the line

from B to A at a constant speed of 3.00

m/s. What is his average speed over the
~ entire trip.
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All of the following forces are not field forces except
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A car travels on a road with ps=0.2, the acceleration
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with which the car will be stopped equal to: (g=10
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